

$$(1! + 2! + 3! + 4! + 5! + \dots) (2! + 4! + 6! + \dots) \Rightarrow \underbrace{(1+2+4+8)}_{\text{تم بیلان صفر}} \underbrace{(2+4)}_{\text{تم بیلان صفر}} \Rightarrow \underbrace{15}_{33} \underbrace{6}_{24} \Rightarrow 15 \times 6 = 90$$

۱

$$\text{الف) } \sqrt[4]{(4+\sqrt{4})^{-1}} \times \sqrt{1+\sqrt{4}} = (4+\sqrt{4})^{-\frac{1}{4}} (1+\sqrt{4})^{\frac{1}{2}}$$

۲

$$= (1+\sqrt{4})^{\frac{1}{2}} (4+\sqrt{4})^{-\frac{1}{4}} = \left( \frac{(1+\sqrt{4})^2}{(4+\sqrt{4})} \right)^{\frac{1}{4}} \Rightarrow \left( \frac{1+4+2\sqrt{4}}{4+\sqrt{4}} \right)^{\frac{1}{4}} = \left( \frac{1+2\sqrt{4}}{4+\sqrt{4}} \right)^{\frac{1}{4}} = \left( \frac{2(1+\sqrt{4})}{4+\sqrt{4}} \right)^{\frac{1}{4}} = (2)^{\frac{1}{4}} = \sqrt[4]{2}$$

$$\text{ب) } \frac{\sqrt{2}+\sqrt{5}}{\sqrt{10}+2} = \frac{\sqrt{2}+\sqrt{5}}{\sqrt{2}(\sqrt{5}+2)} = \frac{1}{\sqrt{2}} = \frac{\sqrt{2}}{2} \quad \left/ \quad (\sqrt{3}-\sqrt{5}) - (\sqrt{2}+\sqrt{5}) = \left( \frac{\sqrt{5}}{2} - \sqrt{\frac{1}{2}} \right) - \left( \sqrt{\frac{5}{2}} + \sqrt{\frac{1}{2}} \right) \right.$$

$$\frac{\sqrt{2}}{2} \times -\sqrt{2} = -\frac{2}{2} = -1 \quad \left. \begin{array}{l} a+b=3 \\ 2\sqrt{ab}=\sqrt{5} \end{array} \right\} \rightarrow ab=\frac{5}{4}$$

$$a=\frac{5}{4} \quad b=\frac{1}{4} \quad = -2\sqrt{\frac{1}{2}} = -2\frac{1}{\sqrt{2}} = -\sqrt{2}$$

$$\text{الف) } \frac{2\sqrt{2}+3\sqrt{3}}{5-\sqrt{4}} - 2(\sqrt{4}-1)^{-1} \Rightarrow \frac{2\sqrt{2}+3\sqrt{3}}{5-\sqrt{4}} \times (5+\sqrt{4}) = \frac{10\sqrt{2}+19\sqrt{3}}{19} = \frac{19(\sqrt{2}+\sqrt{3})}{19} = \sqrt{2}+\sqrt{3}$$

۳

$$2\left(\frac{1}{\sqrt{4}-1}\right) = \frac{2 \times \sqrt{4}+1}{\sqrt{4}-1 \times \sqrt{4}+1} = \frac{2\sqrt{4}+2}{4-1} = \frac{2(\sqrt{4}+1)}{3} = \sqrt{4}+1 \quad (\sqrt{2}+\sqrt{3}) - (\sqrt{4}+1) = \boxed{\sqrt{2}-1}$$

$$\text{ب) } \frac{3\sqrt{3}-1}{4+\sqrt{3}} + \frac{1}{2-\sqrt{3}} \rightarrow \frac{1}{2-\sqrt{3}} \times \frac{(2+\sqrt{3})}{(2+\sqrt{3})} = \frac{2+\sqrt{3}}{1} \rightarrow 2+\sqrt{3}+\sqrt{3}-1 = \sqrt{3}+1$$

$$\frac{3\sqrt{3}-1}{4+\sqrt{3}} (4-\sqrt{3}) = \frac{12\sqrt{3}-9-4+\sqrt{3}}{13} = \frac{13\sqrt{3}-13}{13} = \sqrt{3}-1$$

$$\frac{\sqrt{1+\sqrt{3}} + \sqrt{\sqrt{3}-1}}{\sqrt{\sqrt{3}-\sqrt{2}}} - \sqrt{2} \Rightarrow \sqrt{1+\sqrt{3}} + \sqrt{\sqrt{3}-1} = A \rightarrow A^2 = \sqrt{2} + 2\sqrt{(1+\sqrt{3})(\sqrt{3}-1)} = \sqrt{2} + 2\sqrt{2} \rightarrow A = \sqrt{2(\sqrt{2}+\sqrt{2})}$$

$$= \sqrt{\frac{2(\sqrt{2}+\sqrt{2})}{\sqrt{3}-\sqrt{2}}} - \sqrt{2} \rightarrow \frac{\sqrt{2}+\sqrt{2}}{\sqrt{3}-\sqrt{2}} \cdot \frac{(\sqrt{3}+\sqrt{2})}{(\sqrt{3}+\sqrt{2})} = \frac{2+2\sqrt{6}}{3-2} = 2+2\sqrt{6} \rightarrow \sqrt{2(2+2\sqrt{6})} = \sqrt{4+4\sqrt{6}}$$

$$(\sqrt{4+4\sqrt{6}})^2 = 4+4\sqrt{6}$$

$$\sqrt{4+4\sqrt{6}} - \sqrt{2} = \sqrt{4}$$

$$c) \sqrt[4]{\sqrt{2} \times \sqrt[4]{142}} \times \sqrt[4]{\sqrt[4]{2}} = \sqrt[4]{2} \times \sqrt[4]{2} \times \sqrt[4]{2} \times \sqrt[4]{2} = \sqrt[4]{2^4} = 2$$

$$\frac{2^x (1+2+4+8+16+32)}{2^{x-2} (1+2+4+8+16+32)} = \frac{2^x \times 63}{2^{x-2} \times 63} = 2^2 = 4$$

$$\frac{2^x}{2^x} \times \frac{2^x}{2^{x-2}} = 2^2 \rightarrow \frac{2^x}{2^{x-2}} = \frac{1}{4} \rightarrow \frac{2^x}{2^{x-2}} \times \frac{1}{4} = 1 \rightarrow \frac{2^x}{2^{x-2}} = 4$$

$$2\left(\frac{2}{x}\right)^x = 4 \rightarrow \left(\frac{2}{x}\right)^x = \frac{4}{2} \rightarrow \boxed{x=2}$$

$$(a^2+b^2+2ab)(a^2+b^2-2ab)$$

$$= a^4 - 2a^2b^2 + b^4 \rightarrow \sqrt{4-2} + \sqrt{4+2} - \sqrt{2} = \sqrt{4} - \sqrt{2} = 2(1-\sqrt{2}) \quad (1+\sqrt{2})(1-\sqrt{2})$$

$$2(\sqrt{4-2} \sqrt{4+2})$$

$$2 = \frac{\sqrt{4-2} \times \sqrt{4+2}}{\sqrt{2} \times \sqrt{2}} = \frac{\sqrt{4-2} \times \sqrt{4+2}}{2} = \frac{\sqrt{16-4}}{2} = \frac{\sqrt{12}}{2} = \frac{2\sqrt{3}}{2} = \sqrt{3}$$

$$\sqrt{(4-2)(4+2)} = 2\sqrt{4-2} = 2\sqrt{2}$$

$$a = \sqrt[4]{(2-\sqrt{2})^2} = \sqrt[4]{2-\sqrt{2}} \quad a + \frac{1}{a} = a + \frac{1}{a} \rightarrow \frac{a^2 + 1}{a} = \frac{2 + \sqrt{2}}{a} = \frac{2 + \sqrt{2}}{\sqrt[4]{2-\sqrt{2}}}$$

$$\left(a + \frac{1}{a}\right)^2 = a^2 + \frac{1}{a^2} + 2 \rightarrow (2-\sqrt{2}) + \frac{1}{2-\sqrt{2}} + 2 = (2-\sqrt{2}) + \frac{2+\sqrt{2}}{2-\sqrt{2}} = \frac{(2-\sqrt{2})(2+\sqrt{2}) + 2+\sqrt{2}}{2-\sqrt{2}} = \frac{4-2+2+\sqrt{2}}{2-\sqrt{2}} = \frac{4+\sqrt{2}}{2-\sqrt{2}}$$

$$(a + \frac{1}{a})^r = a^r + \frac{1}{a^r} + r \rightarrow r - \sqrt[r]{r} + r + \sqrt[r]{r} + r = 1$$

$$r_0 \rightarrow r - \frac{r \sqrt[r]{r}}{r} = r - r = 0 = (r)$$

$$\rightarrow \boxed{t=1}$$

$$a \sqrt[r]{r} \sqrt[r]{r} \sqrt[r]{r} = a \sqrt[r]{r \times r \times r} = \sqrt[r]{r^3} = \sqrt[r]{r^3} = r^{\frac{3}{r}}, \left(\frac{1}{r}\right)^{-\frac{2}{r}} = r^{\frac{2}{r}} / r^{\frac{2}{r}} \times r^{\frac{2}{r}} = (r^{\frac{2}{r}}) = A$$

-1

$$(r^{\frac{1}{r}})^{-\frac{1}{r}} = (1)^{-\frac{1}{r}} = \sqrt[r]{\frac{1}{r}} = \left(\frac{1}{r}\right)$$

$$(a)^{\frac{1}{r}} = \sqrt[r]{a} (a)^{\frac{10}{r}} \rightarrow a^{\frac{1}{r}} = r^{\frac{1}{r}} \times a^{\frac{10}{r}} \quad \frac{a^{\frac{10}{r}}}{a^{\frac{1}{r}}} = a^{\frac{9}{r}} = a^r = \frac{1}{r} \rightarrow a = \frac{1}{r \sqrt[r]{r}}$$

-9

$$\frac{1}{a} - r = r \sqrt[r]{r} - r \rightarrow \frac{r \sqrt[r]{r} - r}{1 + \sqrt[r]{r} \times \sqrt[r]{r} - 1} = \frac{r - r \sqrt[r]{r} - r \sqrt[r]{r} + r}{r} = \frac{1r - 4\sqrt[r]{r}}{r} = \frac{4 - r \sqrt[r]{r}}{r}$$

$$\sqrt{x+a} = p \quad q = \sqrt{x-r} \quad p-q=r \quad (p-q)(p+q) = p^2 - q^2$$

-1.

$$r(p+q) = (x+a) - (x-r) = a+r \rightarrow p+q = \frac{a+r}{r} \quad p+q-r = \frac{a+r}{r} - r = \left(\frac{a}{r}\right)$$